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                                                                         𝐼𝐸𝑇𝑖 = 𝐼𝐷𝑖 =
1

2 ҧ𝑝
σ𝑘=1

𝑚 |𝑝 𝑥𝑘 − ҧ𝑝| 𝛽𝑘 

𝐼𝐸𝑇𝑂𝐷𝑆 = 𝑀𝐺𝑂𝐷𝑆 = 𝑛𝑣 ς𝑖=1
𝑛𝑣 𝐼𝐸𝑇𝑖  = 𝑛𝑣 𝐼𝐸𝑇1. 𝐼𝐸𝑇2. 𝐼𝐸𝑇3 … 𝐼𝐸𝑇𝑛𝑣

𝐼𝐸𝑇𝐺 = 𝑀𝐺𝐺 =
𝑛𝑑

ς𝑗=1
𝑛𝑑 𝐼𝐸𝑇𝑂𝐷𝑆𝑗

 = 𝑛𝑑 𝐼𝐸𝑇𝑂𝐷𝑆1
. 𝐼𝐸𝑇𝑂𝐷𝑆2

. 𝐼𝐸𝑇𝑂𝐷𝑆3
… 𝐼𝐸𝑇𝑂𝐷𝑆𝑛𝑑

≤ ≤

≤ ≤ 

≥ 



𝑩 = |𝒑 𝒙𝒊𝒋 −  ഥ𝒑|

                                              𝑩𝒏𝒐𝒓𝒎 =
|𝒑 𝒙𝒊𝒋 − ഥ𝒑|

𝝈𝒋

𝒊 𝒋



𝑩𝑶𝑫𝑺 = 𝑴𝑷𝑶𝑫𝑺 =  σ𝒋=𝟏
𝑵 𝑩𝒏𝒐𝒓𝒎𝒋

𝑷𝒙𝒋
=  𝑩𝒏𝒐𝒓𝒎𝟏

𝑷𝒙𝟏
+ 𝑩𝒏𝒐𝒓𝒎𝟐

𝑷𝒙𝟐
+ 𝑩𝒏𝒐𝒓𝒎𝟑

𝑷𝒙𝟑
+ ⋯ + 𝑩𝒏𝒐𝒓𝒎𝑵

𝑷𝒙𝑵

𝑩𝒏𝒐𝒓𝒎𝒋
𝒋 𝑷𝒙𝒋

𝑷𝒙𝒋
= 𝟏/𝑵

▪ 𝑷𝒙𝟏…𝑵
= 𝟎. 𝟑ഥ𝟑

▪ 𝑷𝒙𝟏…𝑵
= 𝟎. 𝟓𝟎

▪ 𝑷𝒙𝟏…𝑵
= 𝟎. 𝟐𝟎

▪ 𝑷𝒙𝟏…𝑵
= 𝟎. 𝟐𝟎

▪ 𝑷𝒙𝟏…𝑵
= 𝟎. 𝟑ഥ𝟑

▪ 𝐏𝐱𝟏…𝐍
= 𝟎. 𝟐𝟓

▪ 𝐏𝐱𝟏…𝐍
= 𝟎. 𝟓𝟎

▪ 𝐏𝐱𝟏…𝐍
= 𝟎. 𝟐𝟓



𝑩𝑫𝑻) 𝒊

𝑩𝑫𝑻 = 𝑴𝑷𝑮 =  σ𝑶𝑫𝑺=𝟏
𝑵 𝑩𝑶𝑫𝑺𝒋

𝒘𝒋 =  𝑩𝑶𝑫𝑺𝟏
𝒘𝟏 +  𝑩𝑶𝑫𝑺𝟐

𝒘𝟐 + 𝑩𝑶𝑫𝑺𝟑
𝒘𝟑 + ⋯ + 𝑩𝑶𝑫𝑺𝑵

𝒘𝑵

𝒘𝒋

▪ 𝒘𝟏 = 𝟎. 𝟏𝟓

▪ 𝒘𝟐 = 𝟎. 𝟏𝟓

▪ 𝒘𝟑 = 𝟎. 𝟏𝟓

▪ 𝒘𝟒 = 𝟎. 𝟏𝟓

▪ 𝒘𝟓 = 𝟎. 𝟏𝟎

▪ 𝒘𝟔 = 𝟎. 𝟏𝟎

▪ 𝒘𝟕 = 𝟎. 𝟏𝟎

▪ 𝒘𝟖 = 𝟎. 𝟏𝟎

𝑩𝑫𝑻 ≤

𝑩𝑫𝑻
𝑩𝑫𝑻 ≥
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